I

e
N

lndh
[

I
w




110 MRFBRIN (REER KA B ES)
RSB E R HIRRROUEME KR, LD B

. - B R T %X 2 | 2 B 28| B — 18 B 00
< s ) = 0= e = = ;%\ 3
F R |BH || KB | gy |z | gr|lag| ™ 7 A G 0
EEMMXEBES
FR304F 7 566 40 7 6 494 69 44 1129 21 52 4 583 1121
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31/HHIT 6 767 6 - 3 462 61 36 1 091 17 33 4 055 1003
2 6 073 7 — 5 366 63 30 1 059 9 31 3 568 935
3 6 391 2 — 1 359 63 33 1 081 14 31 3 819 988
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i B A /NEEA 0.002 0.001 0.001 0.001 0.012 0.012 0.011 0.015
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FRE /N 0.009 0.008 0.008 0.008 0.032 0.034 0.035 0.032
BE/NER
T E5INFR 0.008 0.008 0.007 0.007 0.035 0.036 0.037 0.036
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